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WmTe The integer that bes’f descmbes e.ach sn‘ua‘non

A debt of $20 |  : - 3 seconds before. {lfT off o
Name Twc_i integers that have the given qb_solu‘re_ vq_!ue. A

| Order The se'l' of m’regars fr'om ieasT to. gr‘ea‘l‘esf 10 20 30,-30

._...30 ’LD /0 o

The Iow Tempercn‘ur'e on Monday was 5 degrees F, The low Temper'afur'e on Tuesday 3

. was -5 degrees F, and the low: Temperefur'e on Wednesday was - -1 degrees F On Whlch

- 2
_day d|d The. !owesT ’remper'arure occur / e o MY

Add or The subTmc’r 'rhe, mTegers

\S'__..__- ._.7” .: o _”L’L o _ _’/7” . ..:

_ Mu[hply or' dwlde. The m’regers

Mr. Scoﬂ wanTed 1"0 wr'n‘e. a check for* $ 87 He nD‘I'ICBd that he had oniy $79 in his
checking account. What mTeger‘ shows what Mr., Scott's checking account balance

would huvg_bee.n_ |_f_.he hqd.._w_r':‘_r_’r._en ’rhe_chgck? : 74\ £7 = - 87\

The prlca oﬁ a share of sTock droppad $33 over' ab- day per'lod The change in prlce
was the sume on each of ’rhe 5 days WhaT was the change. in price each day7 '

—327 _ _ 4 bo
<




9. Simplify.
TR

10. Wr‘iTe each as an exp'reé"sion_""" '
x_lesé.ﬂmnﬂ{: _ 3@, - —«)c T
~Carolyn makes b_q___fch;;é__cf -1_2‘é5¢ki¢s'; How -many._cbokies-did she make?
' 11 EvaluaTe each algebm]c expr'e.ssuon for‘ The glven value of fhe var-lable. -

__4 + 81-_.for- 1 - -5 R R | 200 +: k -9 far k 63 "

d? 00 'i‘ 6? Cf
7,0“7 '

12 Slmplify each éxp.ressmn

(14 + 10) (2 e) | ;.‘.: (4 7)(2 A 9)
13 Solve each equa’non B

m+(15) 30 s

14, Solve ‘[‘he-zquqﬂon_ R f"” 7

8k~ 11~13 3/49+7 37 e
3’0@) 9_

2z
RJLJ& ; _ ( g ) 3
15. Linda had $15 in her coin bank On her bim‘hday, 5 rela’raves Senf her money asa
blr'l"hday glf’r Each r'elaﬂve, sent the same amoumL She Then had $115. How much
mohey dld Lmda recetve fr'om each r'e.la’rlve? /_( + 3- N A
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16. Draw a graph and label the following points. L - I

-3, 5)
10,-10)
-8, -4)

h

a
b,
c
d

—_—

17. Label the 4 quqdmh’rs_ in the graph qboy_e,_.'_ : L ‘

- B

18 A cn‘y wn‘h sfree‘rs ThaT run nor‘?h/souTh qnd eas‘r/wesf uses coordlnm“es to tdem‘tfy
locations of bmldmgs The unit of IengTh is 1 city block. How many blocks must a taxi
~driver Tr'uve[ to get from a bus sTop a1‘ (2 5) ’ro a house at (17, 25)?. .

g > /72 AT /.s a— 2o = 387 pocs
ey o s et

19, Wr'n‘e each m‘honal number' as a ra'l'lo of Two m’regers

. | ".20 er’re frachons m srmplesf for'm i_ E




23, Wr‘l’re uSing 'e;?.(.ponenfs: 333333 o 3 G;
24, Write in standard form: # o/ - = ¢ ¢

' 25.Evaluq1‘é each e_i(pressi_b_r.):..-,.; | : Sy
e ;f' L e

'_26 A cour’ryard ’rhaT |s 12
of The walkway‘> :




